BHARTIYA SHIKSHA BOARD
Module Paper - I** Term
MATHEMATICS - Class 3
Session 2025-26

Time: 1 Hour Max Marks: 20
Instructions:

e Read the questions carefully.

e 10 minutes extra time is allowed to read this question paper. During this

time, students will read the question paper only and not write the answer.

e This question paper contains 7 questions.

e Q.no. 1, carry 8 marks.

e Q.no.2,3,4,5,6and 7 carry 2 marks each.

e All questions are mandatory to attempt.

o Write all the answers in this question paper only.

Q1. Fillin the Blanks (attempt any 8). 1 x 8 =8 Marks

()  The Place value of 6 in the number 652 is

(i) 452-452 =

(i) 232+0=

(iv) Thefacevalue of 3inthe number 738 is

(v)  Round off 136 to the nearest ten

(vi) The number with 4 at the hundreds place, 7 at the tens place and 0 at

the ones place is

(vii) Greatest 3-digit number using 2, 3and 9

(viii) Which number is bigger: 265 or 267

(ix) 212+138=138+

(x) 439-0= .



Q2. (i) Write the given number in words.
234
Ans.

2 Marks

(if) Write the given number in expanded form.
157
Ans.

Q3. Tick the odd numbers. Cross the even number.

2 Marks

172 260 421 557 282 159

684

Q4. Compare and put correct sign < or > or = in blanks given below:

(i) 187 182

(i) 721 [ ] 481

(i) 341 [ ] 502p

(iv) 220 [ ] 202
Q5. Rearrange the following:

(i) Ascending order: 131, 739, 413, 731

Ans.

2 Marks

2 Marks

(i) Descending order: 133, 540, 137, 383

Ans.

Q6. Ajar has 125 toffees. Another jar has 163 toffees. How many toffees are there

in both the jars?
OR

2 Marks

A packet had 362 candies. Out of these 134 are distributed. How many

candies are left in the packet?

Ans. H

T o




Q7. Fillthe boxes by skip counting by 27?

Ans.

132

136

2 Marks

OR

144

Using digits 9, 4 and 1, form the largest and smallest 3-digit number.

Repetition of digits is not allowed.




